
Precalculus PS 1 Due 911'8 at the beginning of class

Name

Each problem is worth 5 point: 3-points for Work/Explanation and2 points for the correct answer. (Jse another

oiece of oaper to complete yeur Vork Number the problems and box your answers. Partial credit will be awarde(

Neatness counts. Single cross outs are ok.

Write and sign the Qcademic Honesty Statement below.

Factor the polynomial completely.
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Simplify.
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Solve the equation.
3) a[-Sx + 7 - 3(x+ 1)] = -5x + 4
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Solve using the substitution method.
4) Y =z*+ +

3x+Y=29

Find the average rate of change of the function over the given interval.
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5) y = ^,P,71

Find an equation of the lne in point - slope form that passes through these points.
6) Passing through (4, -4) and (0, 7)

Find the requested value.
7) Find f(0) and f(10) for

ff*t=f*-9'ifx<2
L8-t,ifx>2
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Qraph the function.

8)f(x)-{.-?

Solve.
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Sales of frozen pizza for a club fund-raiser increased from 500 one year to 645 the next year. lrVhat was the

percent of increase?
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